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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINIM and in
ENGLISH.

Candidate has to attempt FIVE guestions in afl.

Questions no, 1 and § are compulsory and out of the remaining, any THREE are to be attempied
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in guestions, wherever specified, should be adhered to.
Assume suitable date, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted portly. Any page or portion of the poge left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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TWUE A
SECTION A

Q1. Tt wyai # 4 ueiss =1 v =rraw 150 wr=2t H Hifw

Answer the following questions in about 150 words each :

(a)

(b)

(eh

(d)

{e)

‘ST, vl o wit & e s e i v a EsRa T
faor % T amifir fig & 2 = fvmes sawRand oow = 7
Explain the difference between ‘needs’, ‘wants’ and ‘demands’. Which

one of these is the starting point for marketing ? Do marketers create
needs ?

“dat qeEFl S, WUR 39k gR A Anl e #@ @, 9 awey fe
faramm wea sl % an = gufte = & 7
g Ao ufaeadi fauum wfges 4 e o ad sovm T8 8 2

The statement “build a better mousetrap, the world will beat a path to
their door” communicates the essence of which marketing management
orientation 7

Why is this concept not the right approach in a competitive marketing
scenario 7

=t Taoee Ten T wam % Ay T=9 e £, R 3 oft onsiaien
Wi HATHRME H8] o Hhd B | 3a: o ‘Fierw 90 o Sad TR I9TH
WA B | BRI wEEE 9iEN d 39 gF1 390 § SiE-E At Tt #
it 4t 7

Smart marketers approach market with an understanding that they
cannot appeal to all customers/buyers. Therefore they adopt the ‘rifle’

approach instead of the ‘shotgun’ approach. Which of the two approaches
is more effective in the contemporary business environment and why 7

e wEE (.3, 9he w5t gfaie Fife | aee g9gea oiten F R
wqai fafas vghel =1 avis Fifem |

Define Human Resource (HR) Audit. Describe the warious practices
followed for HR Audit.

i, Te ot SR’ & w0 A 2 7 S v i s
I ge i v Hifa |

What is meant by ‘vision’, ‘mission’ and ‘objectives’ ? Briefly explain the
nature and characteristics of ohjectives.
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Q2. {a)
(b)
(c)
(d)
Q3. (a)
(b)

affd % fagidt 1 s die § B | Ww o sl S &
fafim wr F-Fn & 7 woifes afaeal =1 39m 9 % U g 29 w3
87

Briefly explain the theories of compensation. What are the different

types of monetary and non-monetary rewards 7 What are the merits and
demerits of using non-monetary rewards ?

Hior v W e @ e sfinfe w5 %1 w9 et 8 g ) wee

w1 g == A sfins sl W araia § | e Al B dmea &
Hfim = w wd=nfEt 0 afinfe =0 & o, 0 fage = 3w@m e
TR TR o T B |

Motivation is a simple process but the task of motivating is daunting,
Herzberg's theory is based on hygiene and motivator factors. Explain
how this theory can be used to motivate employees at different levels of
an organisation.

T ferem T wie fomme wElifs o favee fift | TR s @ e
%! fafias werl % Iearg s # woan # 2

Differentiate between line extension and brand extension strategy. Why
do organisations proliferate markets with different types of product
variations 7

4t gt & el 6 o Gy % wo d, B e & anfds it
(wreRteam) <t =amEEn hifew | weTeW Uy S OOt UE % WeW sNEn S 6
87

Explain the economic rationale behind leasing as 8 mode of financing

capital assets. What are the differences between an operating lease and
a capital lease 7

it o e’ % e wEw f smem At | gfie g T gfimw
IEAEAT o Wi fEUET HIfAU | T & ®E 9 596 F9-99] I9E B f o

15

15

10

10

Explain the relationship between ‘role’ and ‘goal’. Differentiate between

role conflict and role ambiguity. What effects do these have on the
working of the organisation 7

Aged & § A e fafim wenl & s w5 seme e # 7 e
#Hifaw & fen wrm w139 & =@ W W dEetens Ao Bee Al
TEvEUl B W B 3R G Il 1 HE %H B 96T R |

What are the different types of skills leaders use in leading ? Discuss the

reasons why conceptual leadership skills become more important and
technical skills go down in importance, at higher levels of organisation.
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(¢)  WATIeEA sevae fawvm & weed #, =R wenr witfem # . wrEw & oEs (B2C),
FHEN § FUEN (B2B), We® ® UEF (C2C) 3N ues & wuEn (C2B) |
FErEmt 1 HEEar # et e Hifa
In the context of Online Internet Marketing, four types are
distinguished : Business to Consumer (B2C), Business to Business
(B2B), Consumer to Consumer (C2C) and Consumer to Business (C2B).
Explain these with the help of examples. 10

(d) ergEl & 3N ge W R swm (wifte) e S % e T o
™ (4 d.) & wey 9wy gEngy, 94

() Hed ug @, sl

(i) HEAUTEE |

= Fifam i weEt qea-fafo fBfe % 9w % g s e e
FaAr e g R

Contrast the effect of FIFO versus (weighted) average cost on ending
value of inventory and pre-tax income (PBT), when

(i) Prices are rising, and

(ii)  Prices are falling.

Explain how income can be manipulated by the choice of inventory
valuation method. 10

Q4. (a) w2 Fifsm 6 smarfes divo wen i wrEe 4 RBove qu e T
0 8 | faum dim s % S ° e 8 7
Explain how do marketing communications work with the help of basic

communication process. What are the elements of marketing
communication mix ? 15

(b) W& wiag e 3 fomn @ & “siER w1 s @R Fae o gtas
FoElie & — "unEl &1 39Em e AR A9 TR H Sgiod #A a9
wEwAE # ol .. | arEfee o W e 89 % o sEeE W agd
BU ZE1E o HegH H §H dehed 1 HHIEirETcds e $hifa |
A famous economist wrote that “there is one and only one social
responsibility of business — to use resources and engage in activities
designed to increase its profits...”, Critically evaluate this statement in
the context of increasing pressure on business to be socially responsible, 15
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(¢) wEgEm Feem = waifae o wdwweE F 8@ aeet & g A
o o T @ | W ¥ SEWew 9 i e 9 vEes fGwe 8
HehaT & 7 ST it #= |
Managerial performance can be judged/measured by two parameters of
effectiveness and efficiency. Can an organisation or manager with high
efficiency fail ? Explain why. 10

(d) UH AEE TE wmel % giEe (mefis) swm s § 7 sEge e
whirge w3 T fimmnadt % o R i

What are the primary uses of a standard cost system ? Distinguish
between favourable and unfavourable cost (and revenue) variances. 10
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wHUE B
SECTION B

Q5. Fr=fefes ot 8 @ o = 39 7 150 veat § #ife

Answer the following questions in about 150 words each :

(a)

(b}

{c)

ferefram <t Wi siist fardt =rn B 2 sadft qemn O weE i Feoare R
4 =i |

What is the pecking order theory of financing ? Compare it with the
trade-off theory of capital structure.

F-g Himdl i S o & oY w9 geEY g @ 7 9 W uiYEEa W we
(=m8.#i.um.) = 9o fee wem feen o 2 ¢ femee= a0, o0 5
gi-at wan difemm =i=si =1 i Fifse

What is the relationship between bond prices and interest rate ? How

does one calculate yield to maturity (YTM) on a bond ? Define discount
bonds, zero coupon bonds and premium bonds.

TR mmif frr Fodim e s e a5

A (FAET Y) T 200 TS FERT O 39 @ # £ 100 FHE W=

i g | fa 3 ar oft sgfae feen 6wl = e s $fedt (ROE)

20% ® | 7% W g 6 Wi Al wiw sl sEwm wda we w,

Frfiafias weat % 3o difa

(i) v R iy o ko

(i) st ad it FAE == w2

(iii) 30Tt F4 o1 ATATN FAT B 7

(iv) ¥R I9R g fafies 6 fed w ofefy o ($eEd 6 oarm)
15% A 8, @ vdftum. fafies & 9w 0w (Fem ) =
A T8 ?

The India Times reported yesterday that ABS Ltd. earned (profit after

tax) ¥ 200 crore during the year ending yesterday and paid out a

dividend of ¥ 100 crore during the same period. The report also

mentioned that the firm's return on equity (ROE) is 20%. Answer the

following gquestions assuming that the firm will maintain the same

dividend payout ratio forever :

(i) ~ What is the firm’s earnings growth rate ?

(ii)  What will next year's earnings be 7

(iii) What will next year's dividend be ?

(iv) What is the estimate of market value (market capitalization) of

ABS Ltd., if market considers 15% a=s the required rate of return
on equity (cost of equity) of ABS Litd 7
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@) wwa ffiee & el Feffen sFsh & awm s w Tl @
Termmm fam = &1 vy fafy va sroemer fafa < s $ifsm

Explain direct method and indirect method of preparing statement of
cash flows using the following information pertaining to Ajay Ltd :
Statement of Profit and Loss for the year ended 31/03/2017

EGT-P-MGMT

EWMITHﬁWEEﬁWW“-ETﬁﬁEW

EEnRiEr 90,00,000
o=l ¢ FEgA] i A §0,00,000
= =g 1,50,000
e = 50,000
1 TE TR 8,00,000
A = 3,00,000
fraet g 5,00,000
Hag g o

31/03/2017 | 31/03/2016
e 50,000 70,000
TS 90,000 60,000
%9 oE 80,000 70,000
R 15,000 20,000

Sales Revenue 90,00,000
Cost of Goods Sold 80,00,000
Other Expenses 1,50,000
Depreciation Expenses 50,000
Profit Before Tax 8,00,000
Income Tax Expense 3,00,000
Net Profit 5,00,000
BHelevant Balance Sheet Accounts

31/03/2017 | 31/03/2016
Inventory 50,000 70,000
Accounts Receivable 90,000 60,000
Accounts Payable 80,000 70,000
Income Tax Payable 15,000 20,000
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(e)

Q6. (a)

(b)

{c}

(d)

71 wrw 8 o ffem & fom ofedfl smm-fufor seemn amm-faion %
yeEel sifus uartt gEemi gi som # 7 Iees g & feer ofo @
faw s &1 feufar 3 sravie qan oftad srma-fafo § sme ey T # 2
8 wraegt % ufed R % F wAw E 2

Why does wvariable costing provide more useful information than
absorption costing for decision-msaking ? What are the income
relationships between absorption and variable costing when production
volume differs from sales volume ? What causes these relationships to
oceur 7

IS o IATEN TEHAEl % HAYE TAae sqarn o famanet i smen
HH T TE gFae witeen s § 2 e wnn g sgeer
weegl # 7 Iuge IereT i e § w9 it |

What are the major cultural characteristics which explain differences in
organisational behaviour across cultures according to Hofstede 7 Why is

cultural adaptation important ? Illustrate with the help of suitable
examples.

it few = g wd f Tae wdam ger (wodvdt) fafa aan
‘ariafter yitefey o (o s am.) Ry ff gem Sifem | = 291 fafei A @
H1A-H! dwer & afiw w4 2

Compare ‘Net Present Value' (NPV) method and ‘Internal Rate of

Return’ (IRR) method of evaluating eapital investments. Which of the
two methods is superior and why ?

“F& TEg® dEot o uF Mgl W HE A §, 78 It swtal sfrefidat -
o ¢ 2 |7 38 e w1 suErEaeTs v favern!, e sfwEl e
e gayA favessi & el § Fifem | ame gaae (v=.em,) v %
HY ThiA-H qE e faoy awmw oo o g € 2

“When managers act on better logic and evidence, their companies will
trump the competition.” Critically analyse this statement in the context
of analytics, big data and HR analytics. What HR decisions can be made
better with HR analytics 7

we Facames w0 g # 7 Al we wwe w9 fRame & fifee @9
# | SffE= Tl & I FO g s i |

What is goal displacement ? Bureaucratic organisations often suffer
from goal displacement. Explain using live examples.
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Q7.

(&)

(b)

(c)

(d)

faamel & a1 aff e S i e fifn | e fan 9t e T
WG, A 9 AGAM U5 w0 # A i ww A oy g 8 | e w5 gee
# fafty ofnt =t o Hifsw |

Explain the meaning of disputes and causes thereof. Industrial disputes,

if not resolved create dissatisfaction which finds expression in different
ways. Explain the various ways of settling disputes.

wHmEraH] SfafEdt ®i e # % = IEE B 8 7 o qEi % oa |
st wfafeat % o vy @ #

(1) HedsE =9

(i) o= wrea af¥E & forw w6 g wew Hand
(iii) EeRTET T W A T

(iv) = T T e o fmm

Ifw w=fifee dmeAt & foau ooeifim ofafedi =1 %o fiftm | of =
a9 (1) § (iv) FemEifn afafemt % fawt w0 ofm w9 8 smee w
2, @ T T wih e T e 9 9 T2 7

What is the purpose of recording adjusting entries ? Some of the items
for which adjusting entries are made at the end of the accounting period
are |

(i) Depreciation expenses

(ii) Services provided by the firm for amounts received earlier

(ifi) Interest payable on loan outstanding

{iv) Rents due but not paid

State the adjusting entries for the above implicit transactions. If an
organisation fails to pass adjusting entries for items (i) to (iv) above,

what will be the impact on ‘Statement of Profit and Loss' and on
‘Balance Sheet’ ?

9t & we wEs # B @ sl o A wea # 1 w0 3 g
wreAl & forg mew § 7 0

Two of the emerging organisation structures are virtual and network
organisations. Are these threats to conventional organisations 7 Why ?

W AWA HI afdE Tgfy W e & fom e wifies S, weewsi @
Fafirt & savasa & 7 399 o9 STl Bl ST w0 7Y s Sifa |

Does India need more leaders, managers or entrepreneurs for achieving
economic growth ? Explain, highlighting their differences.
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(a)

(b)

()

w1 A aeqay 3 gufeso 6t Gwegand fim € 7 wdurlt gufeem &
w1 T B 8§ ?

Are the concepts of employee engagement and empowerment different 7
What are the benefits of employee empowerment 7

famue # sqEuR @ @ gEes R 7 oe efifae B ovw ol v aEaR
AEA A a1 #, 1 39 v Iudh fem wEw 0 8 o o w2
| =hi SFEAT =hifad |

What is the importance of research in marketing ? Suppose a company
wants to undertake a research study, what process is it likely to
undergo ? Explain the steps.

wige ufe fafide 6 Profafes 46h g=n 2

ferefram % W e ol oo I L L
8% sraftad sorE (L) 5,00,000 | 5,00,000
7-5% T (ftmE) s gt 12,00,000 | 10,00,000
Sheerdt i gt 8,00,000 | 10,00,000

T 25,00,000 | 25,00,000

e wigg fafiee 40% =t #Es § 8 | Fifenadfie ofwfka 7 se v
srifem arEn ey diftam 7% 8 | g wfem fofies 6 stdt =i 100
2 | wge Al fafiee & fou 46 1 wiitm sios @ = ofsaa Fifag |

Atul Mahindra Ltd. has the following capital structure :

Type of Financing Book Value | Market Value
8% Non-Convertible
,00,0 5,00,000
Debentures (NCD) P s 0
7-5% Preference Share Capital | 12,00,000 10,00,000
Equity Share Capital 8,00,000 10,00,000
Total 25,00,000 25,00,000

Atul Mahindra Ltd. is in the 40% tax bracket. The risk-free rate of
return is 8% and the expected market risk premium is 7%. The equity

beta of Atul Mahindra Ltd. is 1-00. Calculate the weighted average cost
of capital for Atul Mahindra Ltd.
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(dy “ofafafy smafm weeR (vad) gl stg sl wee ggfe |
s gurd BT 2 7 T 99 gEna E 2 nfafaty amafE e e e aen
=TT A"l § HYW FA 2 7
“Activity Based Costing (ABC) systems are always more accurate than
traditional costing systems.” Do vou agree ? How does ABC improve
overhead assignments ?
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